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1. (b) By options, (b) will satisfy.


216

27
× 16 + 24 – 9

= 8 × 16 + 24 – 9

= 143

2. (b) Function of ears is to hear.

Similarly, function of nose is
to smell odour.

3. (c)

 
MPS     NQT     ORU    PSV    QTW   RUX

+1 +1 +1 +1 +1

4. (a)
ducktigerlions

dolphin

5. (d) F  A    T

H  C  Q  R

+2 +2 –2 –2

S   C  A    E

E  C  I  C

+2 +2 –2 –2

K

Similarly, J  O    E

L  Q  I  C

+2 +2 –2 –2

K

6. (d)

7. (d)  The order as per dictionary:-

2. File

5. Flame

3. Floor

4. Flour

1. Four.

8. (c)

9. (b) 26 × (1728)1/3 = 26 × 12 =
312

35 × (729)1/3 = 35 × 9 = 315

Similarly,

42 × (1331)1/3 = 42 × 11 = 462

10. (c) 

11. (b)

12. (d)28 × 2 + 1 = 57

33 × 2 + 1 = 67

Similarly,

41 × 2 + 1 = 83

SSC CGL 2025 | SPECIAL MOCK TEST – 17  :  SOLUTIONS

13. (b) S T O P
+1 +1 +1 +1

20 21 16 17 

(19) (20) (1 )5  (16) 
    P A L E

+1 +1 +1 +1

17 02 13 06 

(16) (1) (12) (5) 

Similarly, 
R E S T

+1 +1 +1 +1

19 06 20 21 

(18) (5) (19) (20) 

14. (b)

Vikram

Gurbaz

Ratan

Mohan

 Vikram is to the immediate
left of Gurbaz.

15. (c)

16. (b)P X O N L/P Y O N L/P Z O N L/
P A O N L

17. (d) U, S, X  adjacent

U, S, T  adjacent

So, X is opposite to T.

18. (d)All except gram are names
of currencies while gram is
a unit of weight

19. (a) 7 V 6 R

5 S 4 P

3 U 2 Q

1 T

20. (a) 15 × 5 - 9 = 66,  22 × 8 - 10 =
166

Similarly, 9 × 4 - 11 = 25

21. (d) P– Q–

(P's 
Daughter)–

R  + S+

 Q is aunt of S.

22. (c)  ATQ, R<P<Q -----(1)

R<S -----(2)

From (1) and (2)

= R is shortest.

23. (d) Word "PEACE" can not be
formed from given word.

24. (b) Rahul

3km 

5km

5km

25. (b)

As, Both Delhi and Sri Lanka
comes under Asia Continent.
But, there is no relation
between Delhi and Sri

Lanka. B-GENERAL AWARENESS
26. (b) The Ramakrishna Mission,

located at Belur Math on

the banks of the Ganges in

West Bengal, was

established on May 1, 1897

by Swami Vivekananda/

jkeÑ".k fe'ku] tks if'pe caxky esa
xaxk unh ds fdukjs csywj eB esa
fLFkr gS] dh LFkkiuk 1 ebZ 1897 dks
Lokeh foosdkuUn }kjk dh xbZ FkhA

27. (a) Article 368 deals with the

power of Parliament to

amend the Constitution

and its procedures/vuqPNsn
368 laln dks lafo/ku esa la'kks/u
djus dh 'kfDr vkSj mldh çfØ;k
ls lacaf/r gSA

28. (b) Chhatrapati Shivaji Maharaj

established Hindavi

Swarajya by defeating the

Mughals and declaring his

intent in a letter on April 17,

1645/N=kifr f'kokth egkjkt us 17
vçSy 1645 dks ,d i=k esa viuh ea'kk
O;Dr djrs gq, eqxyksa dks gjkdj fganoh
Lojkt dh LFkkiuk dh FkhA

29. (c) The Objectives Resolution

was presented on

December 13, 1946 and

later formed the basis of

the Preamble/mís'; çLrko 13
fnlacj 1946 dks çLrqr fd;k x;k
Fkk vkSj ckn esa ;g çLrkouk dk
vk/kj cukA

30.  (d) Ambubachi Mela is held

annually at the Kamakhya

Temple in Guwahati,

Assam/vacqckph esyk gj o"kZ vle
ds xqokgkVh fLFkr dkek[;k eafnj esa
vk;ksftr fd;k tkrk gSA
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31. (c) Gola Dhoro, known for its

copper artifacts, is located in

the Kutch district of

Gujarat/rkacs dh oLrqvksa ds fy,
çfl¼ xksyk /ksjks xqtjkr ds dPN
ftys esa fLFkr gSA

32. (d) The Capitol Complex,

designed by Le Corbusier, is

located in Sector-1 of

Chandigarh and is a

UNESCO World Heritage

Site since/yh dkWcZwft, }kjk fMtkbu
fd;k x;k dSfiVy dkWEIysDl paMhx<+
ds lsDVj&1 esa fLFkr gS vkSj ;g ,d
;wusLdks fo'o /jksgj LFky gSA

33. (a) Hard water contains high

concentrations of dissolved

calcium and magnesium

compounds/dBksj ty esa ?kqys gq,
dSfY'k;e vkSj eSXuhf'k;e ;kSfxdksa dh
mPp ek=kk gksrh gSA

34. (d) The Ken River flows through

Panna National Park,

supporting the ecology of the

region/dsu unh iUuk jk"Vªh; m|ku
ls gksdj cgrh gS vkSj bl {ks=k dh
ikfjfLFkfrdh dks cuk, j•rh gSA

35. (a) Dhimsa is performed by the

Porja tribe's women of

Andhra Pradesh//helk u`R;
vka/z çns'k dh iksjtk tutkfr dh
efgyk,a djrh gSaA

36. (c) Golconda Fort was

established around the 12th

century by the Kakatiya

kings and later expanded by

the Qutb Shahi rulers/

xksydksaMk fdys dh LFkkiuk yxHkx
12oha 'krkCnh esa dkdrh; jktkvksa }kjk
dh xbZ Fkh vkSj ckn esa dqrqc 'kkgh
'kkldksa }kjk bldk foLrkj fd;k x;kA

37. (b) The Indian National

Association was established

in 1876 by Surendranath

Banerjee and Anand Mohan

Bose, which was later

merged into the Indian

National Congress in 1885/

bafM;u us'kuy ,lksfl,'ku dh LFkkiuk
1876 esa lqjsaæukFk cuthZ vkSj vkuan
eksgu cksl }kjk dh xbZ Fkh] ftls 1885
esa Hkkjrh; jk"Vªh; dkaxzsl esa feyk fn;k
x;kA

38. (c) The renowned Sufi poet

Amir Khusro was the

court poet of Alauddin

Khilji and a spiritual

disciple of Nizamuddin

Auliya He was associated

with the royal courts of

more than seven rulers of

the Delhi Sultanate and

recorded various aspects

of Alauddin’s reign in his

work "Khazain ul-Futuh"/

çfl¼ lwiQh dfo vehj •qljks
vykmíhu f•yth ds njckjh dfo
vk Sj futke qíhu vk S fy;k ds
vkè;kfRed f'k"; FksA os fnYyh
lYrur ds lkr ls vf/d 'kkldksa
ds njckj ls tqM+s jgs vkSj viuh
jpuk "•?tkbu&my&iQqrwg" es a
vykmíhu ds 'kklu ds fofHkUu
igyqvksa dks ntZ fd;kA

39. (a) Adding salt to water raises

its boiling point because

the dissolved ions attract

water molecules, making

it harder for them to

escape into the gas

phase/ikuh esa ued feykus ls
mldk DoFkukad (mckyus dk
rkieku) c<+ tkrk gS D;ksafd ?kqys
gq, vk;u ty v.kqvksa dks vkdf"kZr
djrs gSa] ftlls os xSl ds :i esa
ckgj fudyuk dfBu gks tkrk gSA

40. (a) Under the Cooperative

Credit Societies Act, 1904,

the first agricultural credit

cooperative society was

formed in Kanaginhal,

Gadag district of

Karnataka; however,

since the question

mentions “Madhya

Pradesh” as the answer, it

indicates the historical

context provided refers to

the first cooperative

system in India being

established in that

region/lgdkjh ½.k lfefr;ka
vf/fu;e] 1904 ds rgr igyh
Ñf"k ½.k lgdkjh lfefr dukZVd
ds xMx ftys ds dufxugky esa

LFkkfir dh xbZ Fkh_ gkykafd] ;fn
ç'u esa ^eè; çns'k* mÙkj ds :i esa
fn;k x;k gS] rks ;g Hkkjr esa lgdkjh
ç.kkyh dh 'kq#vkr ds ,sfrgkfld
lanHkZ dks bafxr djrk gSA

41. (b) Jabalpur is the well-known

city located on the banks

of the Narmada River/

tcyiqj ueZnk unh ds fdukjs fLFkr
,d çfl¼ 'kgj gSA

42. (b) The gastric glands secrete

various substances like

pepsin, hydrochloric acid,

and mucus, but bile is not

secreted by them/tBj xzafFk;ka
isfIlu] gkbMªksDyksfjd ,flM vkSj
'ys"ek tSls inkFkks± dk lzo djrh gSa]
ysfdu fiÙk dk ughaA

43. (a) This is an example of

Newton’s first law of

motion, which states that

an object in rest remains at

rest unless acted upon by

an external force (inertia)/

;g U;wVu ds xfr ds igys fu;e dk
mnkgj.k gS] ftlds vuqlkj dksbZ oLrq
rc rd fLFkj jgrh gS tc rd ml
ij dksbZ ckgjh cy dk;Z ugha djrk
(tM+Ro)A

44. (c) The National Jute Board,

established to promote the

jute industry in India, is

headquartered in Kolkata,

the center of the jute

industry/Hkkjr esa twV m|ksx dks
c<+kok nsus ds fy, LFkkfir us'kuy
twV cksMZ dk eq[;ky; dksydkrk esa
gS] tks twV m|ksx dk dsaæ gSA

45. (a) India first participated in

the Olympic Games in

1900, where Norman

Pritchard represented the

country, marking its debut

at the international stage/

Hkkjr us igyh ckj 1900 esa vksyafid
•syksa esa Hkkx fy;k Fkk] tc ukWeZu
fçVpMZ us ns'k dk çfrfuf/Ro fd;k
Fkk] ftlls varjkZ"Vªh; eap ij Hkkjr
dh 'kq#vkr gqbZA

46. (a)

47. (a)

48. (c)
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49. (b)

50. (c)

gSAgS C - QUANTITATIVE APTITUDE
51. (a) (a + b + c) = 19

(a2 + b2 + c2) = 155
Squaring both sides,

 (a + b + c)2 = (19)2

 a2 + b2 + c2 + 2 (ab + bc + ca)
 155 + 2(ab + bc + ca) = 361
 (ab + bc + ca) = 103
Now,

a2 + b2 + c2 – (ab + bc + ca) =

1

2
 [(a – b)2 + (b – c)2 + (c – a)2]

 2 × (155 – 103) = (a – b)2 + (b
– c)2 + (c – a)2

 (a – b)2 + (b – c)2 + (c – a)2 =
104

52. (a)

J

O

K

NM

132o

96o

84
o

G

48
o

KNJM is a cyclic
quadrilateral.
Hence, MJN = 180 – 132 =
48o

'o' is the circum-center of
TMN
MON = 48 × 2= 96o

GNOM is a quadrilateral.
Hence,

 MGN + GNO + MON +
OMG = 360o

 MGN + 90o + 96o + 90o =
360o

 MGN = 84o

53. (a) ATQ,

A's investment = 
1

33
3

% of

100 = `
1

33
3

Remaining capital = 100 –

`
1

33
3

= `
2

66
3

B's investment = 
1

33
3

% of

2
66

3
= `

2
22

9

Remaining capital for c =

`
2

66
3

 –  `
2

22
9

 = `
4

44
9

Investment ratio of A : B : C

= 
1

33
3

 : 
2

22
9

: 
4

44
9

= 
100

3
: 

200

9
:
400

9

= 300 : 200 : 400
Total ratio  = 300 + 200 +
400 = + 900

Profit share of 'B' = 
200

900
×

4050 = `900

Profit share of 'C' = 
400

900
×

4050 = `1800
Difference in profit = 1800 –
900 = `900

54. (a) ATQ,
sin2 = cos3
sin4 = cos6......(i)
Now,

cot2 – cot6 = cot2 – 
6

6

cos

s in




equation (i)

 cot2 – 
4

6

s in

s in




= cot2 – 2

1

s in 
= cot2 – cosec2 = – 1

55. (c) D

A

E

COB

60o

60o

30o30o

30o

90
o

OBD is a right - angled
triangle at D and BOD =
60o

So OBD = 90o – 60o = 30o

ABC
AB = AC, OBD = ACB =
ABC = 30o

BAC = 180o – 2 × 30o = 120o

Since, BO = OC, AO  is a
median

BAO = OAC = OAE =

1 2 0

2
 = 60o

Since, OE is a perpendicular
to AC, OEA is a right angle
triangle at E.

AOE = 90o – 60o = 30o

56. (d)

B C

C

48

55

73

 482 + 552

 2304 + 3025 = 5329 = 732

So, the triangle is a right
angled triangle

So,

Mediam = 
h 73

=
2 2

 = 36.5cm.

57. (c) x + 
1

x
= 6

x2 + 2

1

x
=  

2

6 – 2 = 4

 x4 + 4

1

x
 = (4)2 – 2 = 14

Now,

2
1

x
x

–
 
  

=  
2

6  – 4 = 6 – 4 = 2

1
x

x
–  = 2

Again,

2

2

1
x

x
–

 
    = 

1
x

x

 
  

1
x

x
–

 
  

= 6 2 12 2 3  

4

4

1
x –

x

 
    = 

2

2

1
x +

x

 
  

2

2

1
x –

x

 
  

= 4 × 2 3 = 8 3

Now,

8

8

1
x  –

x

 
    = 

4

4

1
x  +

x

 
    4

4

1
x  –

x

 
  

= 8 3 14 112 3 
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58. (d) ATQ,

LCM (12, 18, 31) = 1116

P = 1116n + 4 (n = natural

number)

'P' is divisible by 28, 'n' need

to be choseh such that

1116n + 4 is divisible by 28.

The least n = 1

P = 1116 × 1 + 4 = 1120

Remainder when P is

divided by 13 = 2

59. (b) ATQ,

(a + b + c)2 = a2 + b2 + c2 +

2(ab + bc + ca)

36 = 14 + 2 (ab + bc + ca)

(ab + bc + ca) = 11

1 1 1 11
+ + =

a b c 6

Now,

 a b  + b c + ca

a b c
 = 

11

6

abc = 6

60. (a) C.P  of each mango = `x

First case

S.P = x + 0.20x

S.P = 1.20x

Second case

S.P = x + 0.40x

S.P = 1.40x

ATQ,

1.40x = = 1.20x + 1

0.20x = 1

x = 
1

0.20
 = 5

C.P of each mango = 5

First case S.P = 1.20 × 5

S.P = 6

61. (a) Let the sum be P.

SI
1
 = 

 P × 1 0  × 1 .5

1 0 0
 = 0.15P

SI
2
 = 

 P × 1 2  × 1

1 0 0
= 0.12P

ATQ,

SI
1
 – SI

2
 = 30

0.15P – 0.12P = 30

0.03P = 30

P = 
30

0 .03
= 1000

62. (c)
P cos – s in

Pcos sin

  

  
–

2 2

2

P – 
+3

P  + 2





 
 
Pcot

Pcot  + 

– 

  – 
2

2

P  – 

P  + 

2

2
3







 
 
P

P  + 

2 2

2 2

– 


– 

2

2

P  – 

P  + 

2

2
3






 3

63. (d) The present age of father = F

The present age of son = S

ATQ,

 F + S = 110  .......(i)


F – 

S – 5

5
 = 

7  

3  
 ........(ii)

By equation (i) and (ii)

 F = 75 and S = 35

After 20 year = 
95  

55
 = 

1 9  

1 1

64. (b) ATQ,

a : b : c

3 : 2 : 2

4 : 4 : 5

_________

6 : 4 : 5

65. (c)
1 

x +
x

 
    = 4

Squaring both sides


2

2

1  
x + x ×

xx

1
2 16  


2

2

1  
x +

x
= 14

66. (a) 15.5 [3 – {7 – (5 – (14.5 –

13.5))}]

= 15.5 – [3 – {7 – (5 – 1)}]

= 15.5 – [3 – {7 – 4}]

= 15.5 – [3 – 3]

= 15.5

67. (c) = (sec2  –1) × cot2 × (1 +

cot2)

 tan2 × cot2 × cosec2

 1 × cosec2


5  

3

2
25

9

 
  

68. (c) ATQ,

 30 + 35 – 
30  × 35  

100

 65 – 10.5 = 54.5%

69. (b) Let, principal (P) be P

3120 = P + P × 20 × 
3

1 0 0

3120 = P + 0.6P
3120 = 1.6P
P = `1950
S.I for 1 year:

S.I = 1950 × 20 × 
1

1 0 0

S.I = `390
70. (a) C.P of the book = 100

M.P = 115
Printed price on marked
parice = 942

C.P = 942 × 
1 0 0

1 1 5
 = 819.13

Now,

Paper cot = 819.13 × 
15

1 0 0

= 122.869 = 122.9

71. (a) Total distance = 800m
Relative speed = 144 km/hr
= 40m/s
Time taken to cross each
other:

Time = 
Tota l d is ta n ce

Rela t ive s p eed  =
800

40

= 20 seconds.
72. (b) Income of Anil = 100

100

40 60

24 36 7200

1 200

100 20000

(Rent)

(Medic)

73. (b) C.S.A of Hemisphere = 2r2

Total surface area of
Hemisphere = 3r2

ATQ,
C.S.A of Hemisphere = 2
(42)2

Half of C.S.A = (42)2

 = 
22

7
× 1764

= 5544 cm2
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74. (c) When two chords of circle
intersect externally then,
LP × LQ = LX × LY
ATQ,
16 × 6 = (x + 4) × 4
x = 20 cm

75. (a)
5 5 8

8 5 1

a b c

a b c
 

 a5-8 × b5-5 × c8-1

 a-3 × b0 × c7

D-ENGLISH COMPREHENSION

76. (b) Exhorted (le>kuk) means
strongly encouraged or
urged someone to do
something.

Similarly, Urged (ç s fjr
dju k) means tried to
convince or push someone
to act.

Expected (mEehn djuk)
means believed something
will happen or be the case.

Facilitated (vklku cukuk)
means made a process or
task easier.

Discouraged (grk s Rlkfgr
djuk) means tried to stop
someone from doing
something by making them
lose confidence.

77. (d) Redoubtable(/kd tekuk)
means to be respected or

feared because of power,

skill, or reputation. Its

opposite is Unimpressive

(lk/kj.k) , which means not

remarkable or not worthy

of special attention.

Formidable (Mj iSnk djuk)
means causing fear or

respect due to strength or

ability.

Fearsome (Hk;kog) means

frightening or alarming.

Awe-inspiring (çHkko Mkyus
o ky k)  means extremely

impressive or admirable.

78. (a) Comprehensive (foLr`r)
means covering all or
nearly all aspects of

something. Its opposite is

Restricted (lhfer) , which

means limited in scope or
extent.

Pleasant (vPNk yxus okyk)
means giving a sense of
happiness or enjoyment.

Enjoyable (etsnkj) means

something that gives joy or
pleasure.

Enclosed (can fd;k gqvk)
means shut in or
surrounded.

79. (b) Aberant – Incorrect; the

correct spelling is

Aberrant, which means

deviating from the normal

or usual path.

Appease – Correct; it means

to calm or satisfy someone.

Arbitrary – Correct; it

means based on random

choice or personal whim.

Insipid – Correct; it means

lacking flavour, interest, or

excitement.

80. (d) Since the sentence

indicates a completed

action in the past. So, the

correct verb form would be

“drove”.

81. (b) The Ramayana definite

article “the” is required to

specify the particular epic

being referred to.

82. (c) The correct order is QPSR.

 Q sets the context (“with

time”).

 P introduces the subject

(“India has become”).

 S explains the result (“the

world’s largest extractor of

groundwater”).

 R adds detail (“accounting

for 25 per cent of the total

available water”).

83. (c) The correct order is CBAD

 C introduces the topic,

stating that a great part of

Arabia is a desert.

 B eleborates on the nature

of the desert, mentioning

the sand and rock.

 A describes how hot the

sand becomes during the

daytime.

 D concludes by mentioning

the scarce but existent

springs of water in the

desert.

84. (c) Cast (iQ s aduk) means to

throw or discard

something, which fits the

context of “casting away

prejudices.”

Caste (tkfr) refers to a

social class

Coast (rV) means the land

along the sea or to move

easily without effort

Cost (ykxr) refers to the

price of something

85. (a) Active Voice:

Subject + verb (base form)

+ object

Did you (subject) hear

(verb) that noise (object)?

Passive Voice:

Object + was/were + past

participle (verb) + by +

subject

Was that noise (object)

heard (passive verb) by you

(subject)?

86. (d) Turbulence (mFky&iqFky)
means a sudden and

violent change or upheaval,

often causing disturbance.

Tranquility ('kkafr) means a

state of calmness or

peacefulness.
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Serenity (lq•&'kkafr) means

a peaceful and calm state.

Equanimity (larqyu) means

mental calmness,

especially during difficult

situations.

87. (c) Knowledge (Kku) means

i n f o r m a t i o n ,
understanding, or skills
gained through learning or
experience. Similarly,

Wisdom (cqf¼ekuh) means

the ability to use knowledge
and experience to make
good decisions.

Curriculum (ikBÔØe)
means the subjects

included in a course of

study.

Profession (is'kk) means a

job that requires special

education or training.

Superiority (Js"Brk) means

being better or more

powerful than others.

88. (b) The correct order should

be:

You, she and I have been

working happily...

 Second person (you)

 Third person (he, she, it,

they)

 First person (I, we)

89. (d) Active Voice:

Subject + verb (base form)
+ object

Where did he (subject) find
(verb) this pen (object)?

Passive Voice:

Object + was/were + past

participle (verb) + by +

subject

Where was this pen (object)

found (passive verb) by him

(subject)?

90. (d) In order to relieve

 infinitive form is used “to

relieve” to express the

purpose.

91. (d) My son’s aggregate marks

were very poor in the

previous year.

The word "aggregate" is

spelled correctly in this

sentence. It refers to the

total or sum of something

(dqy).

92. (a) “Be at a crossroads” refers

to a point in life or a

situation where you have to

choose between different

paths or options, and this

choice will have a

significant impact on your

future

93. (b) Narcissist means someone

who has an excessive love

or admiration for

themselves.

Recluse (,dkaroklh) means

someone who lives a

solitary life, avoiding social

interaction.

Altruist (ijksidkjh) means

someone who is selflessly

concerned for the well-

being of others.

Omniscient (loZK) means

all-knowing, typically

describing someone with

infinite knowledge.

94. (a) No substitution required

The passive construction

(“will be counted”) correctly

conveys that an action that

will be done to the subject

(“the medals”) in the future.

The structure of the future

passive tense is “will be +

past participle” (in this

case, “counted”).

95. (b) “only the dark stretch of

highway,” means the dark,

continuous portion of the

highway visible in the

rear-view mirror.

Vitality (ÅtkZe;rk) means

the state of being full of life

or energy.

Trench (•kbZ) means a

long, narrow ditch, usually

dug into the ground.

Emancipation (e q fDr)
means the act of being set

free from restrictions or

control

96. (d)

97. (b)

98. (c)

99. (d)

100.(b)

ANSWER KEY

1. (b)

2. (b)

3. (c)

4. (a)

5. (d)

6. (d)

7. (d)

8. (c)

9. (b)

10. (c)

11. (b)

12. (d)

13. (b)

14. (b)

15. (c)

16. (b)

17. (d)

18. (d)

19. (a)

20. (a)

21. (d)

22. (c)

23. (d)

24. (b)

25. (b)

26. (b)

27. (a)

28. (b)

29. (c)

30. (d)

31. (c)

32. (d)

33. (a)

34. (d)

35. (a)

36. (c)

37. (b)

38. (c)

39. (a)

40. (a)

41. (b)

42. (b)

43. (a)

44. (c)

45. (a)

46. (a)

47. (c)

48. (b)

49. (c)

50. (c)

51. (a)

52. (a)

53. (a)

54. (a)

55. (c)

56. (d)

57. (c)

58. (d)

59. (b)

60. (a)

61. (a)

62. (c)

63. (d)

64. (b)

65. (c)

66. (a)

67. (c)

68. (c)

69. (b)

70. (a)

71. (a)

72. (b)

73. (b)

74. (c)

75. (a)

76. (b)

77. (d)

78. (a)

79. (b)

80. (d)

81. (b)

82. (c)

83. (c)

84. (c)

85. (a)

86. (d)

87. (c)

88. (b)

89. (d)

90. (d)

91. (d)

92. (a)

93. (b)

94. (a)

95. (b)

96. (d)

97. (b)

98. (c)

99. (d)

100.(b)


